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HELYISEGLISTA

01
02
03
04
05
06
07
08
09
10
11
12
13
14
15

15
16

ELOSZOBAKOZLEKEDO

FURDO
SZOBA
SZOBA
LEPCSO
KONYHA
NAPPAL|
ETKEZO
LEPCSOTER
TARSALGO
KONYHA
KOZLEKEDO
SZOBA
SZOBA
FURDO

OSSZESEN:

TERASZ
TERASZ

OSSZESEN:

14,07 m?
6,51 m2
14,91 m?
12,98 m?
6,14 m?
8,55 m?
24,87 m?
17,13 m?
6,14 m?
30,69 m?
6,53 m2
15,90 m?
11,23 m?
10,73 m2
4,90 m?

185,05 m?

32,28 m?
62,33 m?

94,61 m?
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01 ELOSZOBA/KOTLEKEDO 1951 m?

02 ETKEZ0 14,14 m?

03 NAPPALI 34,23 m?

04 KONYHA 11,88 m?

05 MOSDO 1,67 m2

06 FURDO 5,66 m2

07 DOLGOzO 12,39 m?

" 08 SZOBA 17,40 m?

R ER e s 09 SZOBA 19,28 m?

: 10 FURDO 6,82 m?

| 11  GARDROB 6,81 m2

12 GARDROB 11,29 m?

5 A A 13  SZOBA 2917 m?

°® 14 FURDO 7,13 m?
&

' H E OSSZESEN: 197,38 m?

-

15 TERASZ 60,21 m?

0 18 TERASZ 15,72 m?

19 TERASZ 51,04 m?2

OSSZESEN: 126,97 m?
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@ . 16 TERASZ
U = 17 TERASZ
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12,73 m?
15,38 m?
18,41 m?
1,64 m2
4,09 m2
10,65 m?
65,52 m?
13,23 m?
6,66 m?
4,32 m?
13,10 m?
4,20 m?
11,01 m?
19,67 m?
18,28 m?

218,89 m?
17.52 m?
6.71 m?

23,56 m?

47,79 m?



